1. Match the parts.

a3 1) the number of visitors to the city per year

b) 20,000 2) the number of levels on the carousel

) 1,800 3) the number of visitors to the aquarium per year
d) 16 million 4) the number of lights on the carousel

e) 32 5) the number of animals in the aquarium

f) 600,000 &) the number of dollars a ride costs

gl2 7) the number of animals on the carousel

. Choose true (T) or false (F).

2
j ............ a) Marketplaces are onshore.

b) The modern F-Line streetcar and two cable car lines have connections to the area.
c) You can see French bakeries around the wharf
d) There aren’t any historic attractions in the Fisherman's wharf.
f"( ................ ) Sightseeing boats and boat charters only link to Alcatraz (“The Rock”™).
................... f) Alcatraz is an island near Fisherman's Wharf
#3. What is the word?
a) lying in the sunshine
b) a vehicle that hangs from
thick cables and carries people up hills and mountains
c) @ machine that goes round and
round and has toy animals or cars for kids to ride on




